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External 

Factors

Causing

Wastes

Hard to 

control, but 

can be 

maintained.

Demand

uncertainty

due to fluctuate 

trends (in reality 

and the game).

Besides, if the 

company has 

just launched a 

new products, it 

might be hard 

to forecast the 

demand.

Vendor lead-

time 

uncertainty

HOW TO 

MAINTAIN?

Internal 

Factors

Causing

Wastes

Can be 

controlled 

within the 

organization.

Ineffective 

operations 

controlling.

This leads to 

several wastes 

including 

waiting, non-

utilized talented, 

and defects.

FACTORS

WASTES

Research &  

    Development

This process occurs 

only a company would 

like to introduce new 

products or 

improve 

innovations.

This waste could occur if the company failed to use their employees 

effectively. For example, in demand forecasting phase, if your company 

has talented employees who have knowledge of analyzing big data or 

have experiences about conducting a marketing research/survey, the 

company should consider assigning them tasks.

- The highly effective market report/ sales forecast (more precise and 

reliable) so that the company could develop the following procedures more 

effectively and efficiently.

- Loyalty from employees. They will feel like they is someone who can help 

the company accomplish the goals.

VALUE 

ADDED TO 

THE 

COMPANY

Put the right man on the right job.

Hiring 

talented/

experienced 

employees, 

but assigning 

unsuitable 

work so they 

cannot show 

their potential.

Furthermore, 

the sales 

forecast might 

be inaccurate. 

The nature of research.

A research could fail (or 

partially fail) at any time 

without any result which 

means the company has 

to accept the losses of 

failure. Also, a company 

cannot specify the exact 

finished time of the 

successful project such as 

medical researches. The 

consequences are that the 

dev team has to rework 

(conduct a new research) 

all of the project.

Focused on developing 

wrong features.

Dev team emphasizes 

on an unnecessary 

parts of the product or 

the part that customer 

doesn’t need.

Hiring 

talented/

experienced 

employees, 

but assigning 

unsuitable 

work so they 

cannot show 

their potential 

and the 

production 

plan might be 

not effective. 

Choosing 

ineffective 

vendors 

leads to low 

quality 

materials and 

late delivery

Miscount of raw 

materials 

requisition 

causes 

irrelevant 

number of 

transportation 

transactions

Courier delivery uncertainty

The products may arrive late.

Miscalculation of finished goods distribution.

If the products are overstocked, the company has to waste money to rent 

more space. 

If the products are not sufficient, the company has to transfer more products 

to that branch.

The Advertising Saturation Point.

The advertising budget will be wasted 

when it reaches the point that the 

advertisement has no impact to sales.

This waste comes from producing product more than needed. The cause 

of this waste is the inaccurate demand forecast. When company produced 

more than need, there will be more cost on stocking raw material and 

MOH cost, more space used, more labor and machine hours have to be 

used in producing goods.

As you can see, many types of wastes are connected. From the inaccurate 

demand forecast, not only overproduction waste, but also inventory 

waste.

This waste could occur when 

there is a failure of new 

research. This could cause dev 

team to rework or conduct a 

new research. Also, the wrong 

result from research could 

cause this waste too. For 

example, if the company got a 

wrong formula of medical 

supplies, the production 

process could not be 

completed because there is a 

problem about combining some 

substances. Another example is 

from mechanism production 

because there might be a 

problem that some parts of 

product may not fit with the 

other parts such as small parts 

of watches.

This waste could occur when 

the company wanted to add 

more features but these 

features weren’t something that 

customers needed or it means 

that this is a non-adding value 

activity. The example of this is 

software features that no one 

ever uses.

As it comes from external 

factor, so that it is hard to 

maintain. As you can see, the 

problem is a failure of new 

research then the company 

should hire or develop dev 

team to be more skilled and 

professional to eliminate this 

problem or make sure that the 

company got the correct result.

The dev team should make a 

survey to find that what 

features do customers need. 

Then, use the result of survey to 

determine what feature or 

function should be added in the 

products.

- A successful and correct 

research due to skillful and 

professional dev team

- The completion of production 

process because of a successful 

and correct research

- Not having or less amount of 

defect in production process

- Elimination of non-adding 

value activity leads to cost 

reduction from not having 

unnecessary features of 

product

This waste corresponds the process of both customer having to wait for 
the goods to be shipped to them by courier, and branches waiting for the 
goods to be shipped from warehouse. A customer wouldn’t want to wait 
for their goods to be shipped. Also if goods were not shipped to branches 
in time, this could result as a waste. Recipient not knowing how long they 
have to wait turning into dissatisfaction is also a waste. 

This waste is about ineffective transportation method from sender to 
receiver. Transportation involves in day-to-day operation. It covers the 
moving and relocating of raw materials, finished goods and other 
equipment needed in operation for different use at each processing stage. 

Motion waste is the movement that doesn’t add value to the company, 
in other words, the unnecessary movement. This waste reduces working 
efficiency. Examples include workers spending time walking around to 
transfer goods to shipment area from department to department more 
than time really spent on actual delivery. The same idea for waiting applies 
to motion: elimination of motion waste is not possible, but minimizing is.

Inventory waste is the event where there is excess of finished goods 

and materials in inventory that exceeds the need for operation. 

Inventory waste could also affect the transportation waste in case 

there is the excessive inventory and overproduction waste and 

inventory waste are highly correlated.

Overprocessing waste in sales & 
production occurs when the 
company spends on marketing 
and promotion that is not 
effective or more than needed 
(more marketing doesn’t 
impact more sales). 

- Finding the best courier that performs efficiently and effectively (e.g., deliver in 

time as required by the company, no past history of late delivery, etc.) (*Costs 

should also be concerned.) 

- Make detailed delivery schedule in advance and regularly monitor every delivery 

to find any discrepancy from schedule and ongoing delivery. Any differences 

should be accounted for and the company should try to manage the problem 

depending on the cause of the difference.

- In case of unexpected events such as a transportation accident resulting in late 

delivery, the company should immediately inform the recipient and compensate 

them. 

- For every delivery, recipient should be informed thoroughly about the expected 

wait time so they know and could wait patiently.

- Provide understandable and sufficient details about the shipping (e.g. address, 

preferred routes, etc.) to courier so they ship to the correct address.

- Effectively and efficiently plan raw materials and finished goods needed in 

advance 

- Manage the flow of transportation; materials should be available at the 

department needing them, not stored at other places (e.g. materials should be sent 

directly to production department from warehouse, nothing in between.)

- Minimizing overproduction, i.e. inventory waste, could partly result in a minimized 

transportation waste.

- Plan and study the route before actual transportation. (e.g. best route, traffic 

forecast, etc.)

- Organize the workplace well so that movement of goods or materials do not 

require too long distances for the preparation for shipment

- Using technology in operation; digital signature to approve shipment to reduces 

manual document approval process

- Plan and design the workplace efficiently

- Using some standard to organize goods and materials to reduce time needed for 

searching

- Manage working space, not too much, not too little

- Managing production using production plan based on forecasted demand; not 

producing more than customers need, revise the production plan regularly 

depending on economic changes and other factors

- Purchasing materials only in the amount needed for production

- Apply the use of JIT or Lean Production if possible

- Monitor sales and evaluate marketing to see if the sales is lower than forecasted

- Study the market, nature of 

products and customers to see 

which marketing type is 

effective for each product

- Stop spend marketing on 

product that is not cost-

effective

- Do not spend marketing more 

than needed; some products 

require a lot of marketing, some 

require a little.

- Improved recipient satisfaction about the delivery schedule

- Goods available for operation in time

- More effective supply chain management

- Reduced customer wait time

- Improved flow of operating schedule

- Improved workflow of production

- Reduced time needed in transportation of materials needed in operation

- Reduced transportation costs

- Reduced time needed for shipment preparation

- Reduced costs from unnecessary motions

- More efficient workplace

- Improved waiting time

- Improved stock management; not having to rent too many spaces

- Reduced cost from inventory obsolescence 

- Reduced production cost

- Higher profit due to reduced cost

- Partly reduced transportation waste

- Reduced cost on marketing

- More effective marketing strategy

- Increased sales and profit

- Use JIT production (manufacture/procure only equal to the amount 
needed), however, the demand forecast must be accurate.

- Find more accurate demand forecast by have experience sale manager 
doing the forecast, follow the news, market trends, and competitor behavior 
and then often review and modify the demand forecast.

- The higher efficiency of capacity use (workers and machines)

- Reduce the significant amount of cost in excess inventory and rental space 

of unsold products

- Reduce the waste on motion, inventory and talent (resources that are used 

in unnecessary products)

Including raw materials and finished goods,

The main cause of inventory waste or excess in inventory is the 

overproduction waste. When companies are going to produce more than need, 

they will order and stock more inventory than needed too. This is why 

inventory waste is linked with overproduction waste.

Another reason for excess in inventory is ordering larger amount of inventory 

in hoping to get higher amount of discount which isn’t worth it.

- Reducing rental space needed which is lead to lower cost.

- The stock is being turnover quickly and the company will have the fresh 
stock, resulting in lower the risk of taking the expense of expired product.

- The lower cost leads to higher profit for company and without having to 
carry more inventory than necessary, company can use that capital to invest 
in the things that benefit the company.

- Use JIT production. JIT production will solve overproduction problem, and 

also inventory problem too (because they are linked)

- Choose the right suppliers who don’t have records for often delivery late 

and built relationship with supplier to have leverage and improve delivery 

time.

- Consider and calculate the discount you get and the amount that company 

really need to produce. If the difference is too huge (cost exceed benefit), 

don’t increase the order in order to get discount.

These are wastes due to not doing it right in the first time and the results 

are defective products which lead the company to the next decision. 

“Should it be reworked?” Or “Sold as scraps or discarded?” 

Here are the cost that should occur:

- Rework, replacement materials, deliveries costs

- Time and effort of dealing with customers about the defects

- The cost of losing or dissatisfied customers

Train and encourage employees to share their experience e.g. how to 

handle the precedented issues. How to make sure that the problems will 

not happen again in the future. 

It is easier for the company to achieve its forecast goal, which was planned to 

support the incoming demands with a proper amount of products to 

maximize profit. 

Transportation is an inevitable waste due to the production process. 

Transportation have to be done to move materials from vendor to 

manufacturer and move finished goods from manufacturer to retailer or 

customer. However, transportation add zero value to product. It only moves 

products to the next process. This waste may lead to other types of wastes 

such as waiting (sending less amount of raw material to production dept.) and 

unnecessary inventory (sending more amount of raw material to production 

dept).

- This waste occurs when there are unbalanced processes. If one process takes 

longer than the next processes, the machines or workers will be idle waiting to 

perform their tasks which means that the time they are waiting doesn’t add 

any value to the products.

- The waste of overproduction and waste of inventory could also cause this 

waste due to the fact that materials has to be transported from one location to 

another (usually as a large batch) and it would take more time to arrive at the 

process.

- In additions, this waste would cause non-adding value cost in the form of 

money. For example, you still have to pay salary of your workers and also 

calculate the amount of depreciation expenses even if your workers and 

machines are still waiting to perform their tasks.

- The worthiness of salary and depreciation cost because non-adding value 

cost is changed to adding value cost.

- The higher effectiveness of the capacity will be used because all workers 

and machines work all of their working time according to the schedule.

Balance production processes by calculating the accurate finished time of 

each production processes. You can use cost pull method (Planning the 

resources used from the end of the stream, not from the forecast.) or 

theory of constraint (TOC) to determine ‘Bottleneck’ and improve the 

constraints found continuously.

- Less waiting time for production dept, less lead time.

- Less transportation cost, less COGS.

- More customer satisfaction.

- Communicate efficiently; make sure that everyone who involve in this 

activity understand the situation clearly and correctly to prevent from human 

errors.

- If the forecast and the production plan are correct, transportation waste will 

be eliminated automatically.

We choose to illustrate 8 wastes by using supply chain because it’s easier to identify the activities that occur throughout the business.

Here is one of the supply chains that we chose (shown below). 

This is a manufacturer-distributor-combined supply chain (one of the simulated situations in MonsoonSim). These activities will occur if our company choose to produce all products 

rather than procure and sell to the customers by our own retail stores. However, the different between the below supply chain and in-game supply chain is the red-colored activity, 

research and development, which this activity usually exist in the real business.
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